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. (A) Paresh Limited manufactures product ‘P’ and the direct material cost is budgeted
as follows : , . 14
Material A : 20 units at ¥ 40 each for every unit ot product “P". '
The price of material A has gone up after the above budget was tormed to % 60 per
unit. In the light of this information. the management has carried out a market study
to confirm that material B can work as substitute and is available at T 52 per unit.
At the end of the budget period the statement of material indicated that product ‘P’
was produced to the extent of 1000 units by using material A as follows :
Quantity used 22000 units at the cost of T 60.40 per unit,
Analyse the Material Cost Variance :
(i)  as per the Conventional Approach
(ii)  as per the Opportunity Cost Approach
OR
(i)  “Management Accounting is a decision making process.” - Explain. 7
(ii) Give difference between Management Accounting and Financial Accounting. 7
(B) _Select the appropriate alternative : (any four) |
(1)  Management Accounting is concerned with _
(a) Past decisions (b) Internal decision making
~ (¢)  External decision making (d) None of'these
(2)  Which method is not of Management Accounting ?
(a) Standard Costing (b) Service Costing
(¢) Marginal Costing (d) Decision Accounting
(3) One of the following is not within the scope of Management Accounting ?
(a) Formulation of policies '
(b)' Classification and collection of costs )
(c) Decision making from alternative course of action
(d) None of these ‘
NG-113 7 P.T.O.
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(4)  Operating variance =
(a)  Original standards — Revised standards
(b)  Revised standards — Actual results

(¢)  Original standards — Actual results
(d) None of these

(5)  Management Accounting is an extension of

(a) Financial Accounting (b) Cost AccoUnting
(¢)  Financial Management (d) None of these

(6)  As per Indian Companies Act, is obligatory. -
(a) Financial Accounts (b) Cost Accounts
(¢) Management Accounts (d) None of these

Sun Limited has prepared the following sales budget for the first five months of

2018 : 14
Month Sales (Units) St -
January 10,800 - 2

February 15,600 &j
March 12,200 ,

-~
April 10,400 GENIUS
Guruji
.- May 9,800 .

Inventory of finished goods at the end of every month is to be equal to 25% of sales
estimate for the next month. On 1™ January 2618, there were 2700 units of product
on hand. Theré is a no work in progress at the end of any month.

Every unit of product requires two types of materials
Material A — 4 kg.
Material B — 5 kg.

in the following quantities :

Materials equal to one half of the requirement of next month’s production are to be
in hand at the end of every month. This requirement was also met on |

January
2018. »
Required : Prepare the following budgets for the quarter ending 31 March, 2018.
(a) Production Bliidget (Quantitative) : ————
(b) Material Purchase Budget (Quantitative)

OR

(1)  Explain advantages of Budgetary control, 7
(i)  Write short note on Master Budget. 7

8
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(B) Select the appropriate alternative : (any four)

0
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(3)

(4)

(5)

(6)

Master Budget is also known as

(@) Cash Bndget (b)' Sales Budget

(¢)  Summary Budget . (d) None of these

The responmblhty for preparation of Sales Budget of 2 company ison

>

(@)  Accountant (b) Budget Expert
(c) Sales Manager | (d) None of these

At 60% capacity factory overheads are ¥ 80,000 and at 80% capacity factory

‘overheads are ¥ 1,00,000. Amount of fixed factory overheads 1ncluded in the

above amount would be

(@ ¥1,00,000 | (5)..-% 80,000

(c) T20,000 : (d) None of these
Appropriatioi budgets are

(a)  Flexible Budget | m

(b) Incremental Budget

(c) Static (Fixed) Budget j | @EN“US
(d) Zero Base Budget ' Gurt?

Which of the tollowmg, item is not included while prepanng a Cash Bndget ? |
(a) Collection from debtors. ~ (b) Payment to credltors,.

(c) Depreciation ' | (d). None of these

Which of the folldwing is not a type of budget ?

(a) Sales Budggt B (b) Cash Buaget

(c) Cash Account {d) None of these

o= A NG [, .~ R



3. (A) Following information is obtained from the cost department of Hope Limited : 14

Standard Cbs‘t-Curd Per Unit
Material Cost (2 kg at % 10 per kg) 2.0
Direct Wages (hours 2 at ¥ 2 per hour) 4
Variable Overheads (hours 2. at ¥ 2 per hour) 4
Fixed Overheads (hours 2 at ¥ 4 per hour) 8
| Total Standard Cost 36
Standard profit per unit 4
Standard selling price per unit - 40

ki\l(?rmal production capacity 10,000 units

Budgeted production and sales 10,000 units

=0 Actual Data 4
Material consumed : 16,500 kg. at ¥ 9.60 per kg. 1,58,400
Dii‘ect Wages : 18,000 hours at ¥ 1.60 per hour 28,800
Variable Overheads 5 32,400
Fixed Overhcads » 76,000
Actual production and sales (at ? 42 per unit) 3,36,000

You are required to compute different variances and reconcile the budgeted profit
with actual profit.

OR _
(1) Explain in detail Single Plan and Partial Plan. 7
(11) = Explain the merits and delﬁerits of Dual Plan system for recording variances.
7
(B) Select the appropriate alternative (any three) 3
(I)  Labour Cost Variance is the difference between
(a)  Fixed labour cost and Variable labour cost ,
(b) Estimated labour cost and Standard labour cost : :

NG-113

(c)  Standard labour cost and Actual 1abour cost

(d) None of these . by GCI}IUS

uruji
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(2)  Materia] Cost Variance =

(@) Materjal usage variance + Material yield variance
(®) Material price variance + Material yield variance
() M

aterial price variance + Material usage variance
(d)  None of the above
The difference between hours pald and hours worked is known as
(@)  Labour rates variance i
(b)  Labour efficiency variance
(c¢) Idle time variance
(d) None of these
(4)  Fixed Budget Variance =
(a) Budget cost — Actual cost
(b)  Actual cost — Standard cost
(c)  Actual hours (Standard rate — Actual rate)
(d) None of these
(5) Sales Price Variance =
(a) Actual quantity (Actual puce Standard price)
(b) Actual quantity (Standard price — Actual price) “

(c) Standard quantlty (Actual price — Standard price) @EN“US

(d) None of these ‘ Guruji

MNC Company Limited operates a standard costing system in its factory. Based
n its past record, it appears that the material cost variance happens to be ¥ 12,000
0

th. on an average. If the cause of the variance can be found and is correctible,
a month.

the correction process will require two months. This correction is likely to have
1€ C :

favourable effect for a period of two months.

© The investigation of variance will cost ¥ 2,000. Correction of the cause of variance
1e i1

vill cost ¥ 4,000 and the probability for finding the cause is 0.40.
wi

Would you recommend launching an investigation ? Why ?
0

What is the minimum probability of finding a correctable cause that would justify
nat 1 .

! 14 -
an investigation ?
~ OR

(i) Whatisthe controllability of variance ? How it is useful to the management ? g

i tis use
(ii) Discuss any one method of cost variance investigation. iy

i . | | |
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(B) Select the appropriate alternative : (any three)

'N(}JIB
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(3)

4)

(5

- (@) Costof investigétion

ln the formula C < (1-P)L, L denote for

(b) Net benefit

(c) Netloss (d) None of these

Which of the following is not a cost variance investigation model ?

(a) Profit volume model
(b) Control charts model
() Materiality significance model

(d) None of these

(1-P)=

(a) Probability that the variance is controllable
(b) Pfobability that the variance is uncontrollable

(c) Probability that the process is in control

(d) None of these

In the formula C < (1 - P)L, C denote for
A(a) Cost of investigation .

(b) Cost of corrective measures

(c) Cost of control

(d) None of these

éUSUM char.t is used for

(a) Control charts model

(b) Statistical significance model

(¢) Materiality significance model

(d)° None of these
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